MEZTEERER 1
[1] EBT BN D S, = OYIKDIA ¢ 12513 BALE 7(t) 1.
F(t) = (—4t + 3,2t + 5, —5t% + 3t + 2)
THAOND, ZOYERDIL ¢ 1281 53HE 0(t) & MR a(t) 2 ¢ OBEEE L TR &,
[2] HE T 2MADDH D, ZOYIRDIEZL] ¢ 1281 2L 0(t) 1.
#(t) = (0,5, —10t + 2)

ThEzoN5, ZOYMADKRZ t 1281 2 NHEE a(t) A& 7(t) %2 t OB L LTkd &, 772U,
Rt = 0 12 B W TYMRIZPIALE ) = (0, -5,0) IZHE2HDET 5,

(3] MEBIT Mk 5. = OYIKDEA L 12813 B MIEE (1) 1.
a(t) = (0,0, -10)

THEZO6ND, ZOYKDKL t 1281 5HE 6(t) ALl F(t) % t OB LTk &, 7L,
Rl t = 0 12 B W TYMRIIHIEEE 0 = (5,0,0) 28 b, FIHLLE 75 = (0,0,100) IZHBED LT 5,



